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EU-1300R
TOTAL
1 0.0
2 0.0
3 0.0
4 0.0
5 0.0
6 0.0
7 0.0
8 0.0
9 0.0
10 0.0
11 0.0
12 0.0
13 0.0
14 0.0
15 0.0
EU-1300
TOTAL
1 MINI 20.0 20.0
2 MINI 15.0 15.0
3 MINI 12.0 12.0
4 MINI 10.0 10.0
5 0.0
6 0.0
7 0.0
8 0.0
9 0.0
10 0.0
11 0.0
12 0.0
13 0.0
14 0.0
15 0.0
EU-1600R
TOTAL
1 0.0
2 0.0
3 0.0
4 0.0
5 0.0
6 0.0
7 0.0
8 0.0
9 0.0
10 0.0
11 0.0
12 0.0
13 0.0
14 0.0
15 0.0




EU-1600

TOTAL
1 PEUGEOT 20.0 20.0
2 PEUGEOT 15.0 15.0
3 PEUGEOT 12.0 12.0
4 0.0
5 0.0
6 0.0
7 0.0
8 0.0
9 0.0
10 0.0
11 0.0
12 0.0
13 0.0
14 0.0
15 0.0

EU-2000R

TOTAL
1 ALFAROMEO 20.0 20.0
2 ALFAROMEO 15.0 15.0
3 BMW 12.0 12.0
4 0.0
5 0.0
6 0.0
7 0.0
8 0.0
9 0.0
10 0.0
11 0.0
12 0.0
13 0.0
14 0.0
15 0.0

EU-2000

TOTAL
1 ALFAROMEO 20.0 20.0
2 PEUGEOT 15.0 15.0
3 LOTUS 12.0 12.0
4 PEUGEOT 10.0 10.0
5 0.0
6 0.0
7 0.0
8 0.0
9 0.0
10 0.0
11 0.0
12 0.0
13 0.0
14 0.0
15 0.0




EU-3000R

TOTAL
1 RENAULT 20.0 20.0
2 VOLKSWAGEN 15.0 15.0
3 0.0
4 0.0
5 0.0
6 0.0
7 0.0
8 0.0
9 0.0
10 0.0
11 0.0
12 0.0
13 0.0
14 0.0
15 0.0

EU-3000

TOTAL
1 LOTUS 20.0 20.0
2 LOTUS 15.0 15.0
3 LOTUS 12.0 12.0
4 ALFAROMEO 10.0 10.0
5 0.0
6 0.0
7 0.0
8 0.0
9 0.0
10 0.0
11 0.0
12 0.0
13 0.0
14 0.0
15 0.0

EU-RR

TOTAL
1 ALFAROMEO 20.0 20.0
2 PORSCHE 15.0 15.0
3 FERRARI 12.0 12.0
4 ALFAROMEO 10.0 10.0
5 0.0
6 0.0
7 0.0
8 0.0
9 0.0
10 0.0
11 0.0
12 0.0
13 0.0
14 0.0
15 0.0




EU-R

TOTAL
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EU-7
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